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Q) @5t 3o sHar &
(i) J97 &A1 85 a% 3ld TG-IT0T J97 & 31K I J97 & 70 1 37% 8 |
(iii) 37 G&IT6 & 10 TH TG-ITIT J97 & 3R Je % 97 & [c77 2 37% & |
(iv) 397 &7 11 G 22 7% ¥} Tg-3707 397 & 3K Je9% 597 & 70 3 37% 8 |
(v) 397 G&IT 23 GoATIIRG J97 & 37 57% forg 4 37% & |
(vi) 97 GCIT 24 & 26 TF GI5-ITT J97 & 3K IS J97 & [77 5 3% & |
(vii) a@;ﬂWﬁﬁWWwW#/Weﬁ%W#@wﬁ

TE e |

General Instructions :

(1) All questions are compulsory.

(it)  Questions number 1 to 5 are very short answer questions and carry
1 mark each.

(iii)) Questions number 6 to 10 are short answer questions and carry 2 marks
each.

(iv)  Questions number 11 to 22 are also short answer questions and carry

3 marks each.
(v) Question number 23 is a value based question and carry 4 marks.

(vi)  Questions number 24 to 26 are long answer questions and carry 5 marks
each.

(vii) Use log tables, if necessary. Use of calculators is not allowed.

1.  Ud & gREfuq grewen it gfitegur mieam i faflge | 1

Write the dispersed phase and dispersion medium of paints.
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Copper atom has completely filled d-orbitals in its ground state but it is a

transition element. Why ?

3. TwfaRad 3@ # 8 ®F Sy 2 stfufsean stfee disrar @ =m ¢ 1
CH,
CH; - CH, - Br 3 CH;-C-CH,
b
Which would undergo Sy 2 reaction faster in the following pair :

CH,

|
CH3 - CH2 —Br and CH3 -C - CH3
|

Br
4. 1T A3 & AlH 99 G R b Ay (I (e H) o 2 1
How much charge in Faradays is required for the reduction of 1 mol of
Al3+ to Al ?
5.  Teu o ifies 1 o8 M. AW fAfE 1

CH3—0—CH2—(|JH—CH3
OH

Write the IUPAC name of the given compound :
CH3—O—CH2—(|JH—CH3
OH
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(1) HyS50,
(i) XeOg
Write the structures of the following :
(1) HyS50,

(i)  XeOj

7. HcE [Co(NHy)s(COZ)ICl T 31,9 W04 9 faRay | 38 sirciad g

forg TepR <h1 GHTIIET 2RITE SATd! & 2 2
AT

S IO H. Tghd 1 3TN A §U WG IueeeicH Afehi & g3

fafew 2

(i)  TEARIgSIRE(II)

(i)  refrm deTaTsgiadtThe (1)

Write down the IUPAC name of the complex [Co(NH3)5(CO35)ICl. What

type of isomerism is shown by this complex ?

OR

Using IUPAC norms write the formulae for the following coordination
compounds :
1) Tetrachloridocuprate(II)

(i1)  Potassium tetrahydroxozincate(II)

8. T TrE % ATUTeTeh HITHA TN foerd & HIek a0 o sie gFa-g ol oJcad
ST | 2

Derive the relationship between relative lowering of vapour pressure and
molar mass of the solute.
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() &R "wed % 98d §C %A |
CgH; — NH,, CHj; - CH, - NH,, CgH;-NH- CH,

(i)  FaTH % Fd gYHA |
CyH; - OH, CHj- CH, - NH,, CH;-NH - CH,

Arrange the following :

1) in increasing order of basic strength
CgHs - NH,, CH;-CH,-NH,, CgHz- NH-CH;4

(i1) in increasing order of boiling point
CoHs - OH, CHj3-CH,-NH,, CH;-NH-CHg

10. R O (k) H GRWING Hig | Fefaied & g @ s % Jee

feflau - 2
G) 9\ Hife Afufsean
Gi) fedfa sife safufsean
Define rate constant (k). Write the unit of rate constant for the following :
(1) First order reaction
(11) Second order reaction
11. F=fafed uer = afenfya Hifsw 3
(i) FIX
(i) p-or3Y AL=TAS

(iii)  HUgrEehed

Define the following terms :
1) F-centre

(i1)  p-type semiconductor
(iii) Ferrimagnetism
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T 2 x 1072 ¥ JgL 8 x 1072 Bl ST 8 | |ishaul oAt (B,) i Ihehed
T | 3

(log 2 = 0-301, log 3 = 0-4771, log 4 = 0-6021)

The rate constant of a first order reaction increases from 2 x 102 to

8 x 1072 when the temperature changes from 300 K to 320 K. Calculate
the energy of activation (E,).

(log 2 = 0-301, log 3 = 0-4771, log 4 = 0-6021)

13. f=fafad uei =i gftafya Hifsw - 3
G)  EEE I
(i) Thed

(iii) BshI-3TTfUeh Hicise

Define the following terms :
(1) Homogeneous catalysis
(ii))  Coagulation

(ii1) Macromolecular colloids

14. ()  91gsTi o T gishr & dis St frgrea 7, 391 3g@ i |
(i) T (Mes) & sy § 99 NaCN 61 1 fHehT g ?

(iii) AR 1 HIF-A1 TY (BiH) ST A T YGad &9 7 ? 3

(1) Mention the principle behind the zone refining of metals.
(i1)  What is the role of dilute NaCN in the extraction of gold ?

(iii)  Which form of iron is the purest form of commercial iron ?
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FIh 35323 K ¥ 9§t 353-93 K & Sd1 & | focig &1 HieR geadH
gfepfera T |

(S5 1 K, = 252 K kg mol ™) 3

When 1-5 g of a non-volatile solute was dissolved in 90 g of benzene, the
boiling point of benzene raised from 353-23 K to 353-93 K. Calculate the

molar mass of the solute.

(K, for benzene = 2-52 K kg mol 1)

16. T=fafed & fow o dfSw - 3
(i) SIS Ush 119 B Tirg BIEHRE Tk 31 B |

(ii) HyO ¥ HyTe T A& IV T2l 2 |
(iii) BATSHI shl STferehad FUTCH Sladi TTed TAed! Bt |

Give reasons for the following :
(1) Dinitrogen is a gas but phosphorus is a solid.

(i)  Bond angle decreases from HyO to HyTe.

(iii) Halogens have the maximum negative electron gain enthalpy.

17. Tfafed # g Tflshan o J&F 3cu1g hl A e 3

H+

(i) CH3-CH,-CH-CH; + KOH T,
|
Br

Br
|

fieta AlCL,
(iii) © + CH,COCl
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H+
i) CH;-CH=CH, + HO —>

(i) CHy;-CH,-CH-CH; + KOH ethanol/heat
|
Br
Br
|
anhyd. AlCl,
(1ii) © + CH;COCl
18. fTi=feifaa & fow swmor difSw - 3

(a) p-ATEIbFIA ﬁw 0-TTEThHTA & 3fereh 3efig B |
(b) FH H C—0-C A BV IGHADT HIU (109°28") T AT T
BT 3 |

(¢)  (CHg)3C — Br 1@ NaOCH3 § IfshaT il & T8 Teh UgehH <al @
foh T SR |

Give reasons for the following :
(a)  p-nitrophenol is more acidic than o-nitrophenol.

(b) Bond angle C—-O-C in ethers is slightly higher than the
tetrahedral angle (109°28").

(c) (CH3)3C — Br on reaction with NaOCHg4 gives an alkene instead of

an ether.

19. f=fafRaa s sma 8 i 3
() e % i 8
(i)  TIATES 1 AYTUHA o
(iii) g 1 e §
HYAT
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(i)  CHZCOC/fufEr
(i) CgHESO,CI
(iii) CHCl3 + KOH
How do you convert the following :
(1) Aniline to benzene
(ii))  Ethanamide to methanamine

(111))  Nitrobenzene to aniline

OR

Write the chemical equations involved when C,HsNH, is treated with

the following reagents :

(1) CH3COCl/pyridine
(i) CgHzS0,Cl

(iii) CHCl, + KOH

20. T HAfARad S o TheTsh! o T HI ITeh! HLEAL ARET 3
(1) g41-N
(i)  SeheTEe
(iii)  2FA
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(1) Buna-N
(11) Bakelite
(ii1) Teflon

21. (i) 9 DM Bro @ | AT hial g a1 W 3c9Tg i TAfE |
(i) WA H forg R 1 forens Iufeyrd giar 8 2
(iii) DNA 3R RNA & ¥ U 37¥ =l fafEu | 3

(1) Write the product obtained when D-glucose reacts with Br, water.
(i1)  What type of linkage is present in proteins ?
(iii)  Write one difference between DNA and RNA.

22. (a) TIAfaRga sirced ° getor 3R 3 3R faRau :
(i)  [Co(NHj)gl3+
(i)  [NiCl,]2-

(TTHT] RHT : Co = 27, Ni = 28)

(b) NHjg 3R ‘en’ # &4 fefilcg 91q < 1Y ATYH TARM HiFecierd ]
2 3 i 2 3

(a)  Write the hybridization and shape of the following complexes :
(i)  [Co(NHg)gl3*
(i)  [NiCl,]%-
(Atomic number : Co = 27, Ni = 28)

(b)  Out of NH3 and ‘en’, which ligand forms more stable complex with
metal and why ?
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Thel o TITEIS Ht FYST § Th AR 1 ARISH foha e o= Tifeaal st
=1 o HIA-VYAIsTl S FAWEA ka1 | 98 i forn o o6 wpal § 93 g¢
GH ! U &g hH AU SR Eareeggdesh aequ I g, o], g4, I1fE 3ucrey
HE ¢ | 354 I8 ot fola foren fop wpett | Ut wia w1t Shi VTSl o w9
I B T T HT ARG =AM AEE §9 § HET AT | B: HAE
qaTd, o FPSr 9 MUHR Thal § R e wleu wUA HR Sl
Teey | 1YW gUr 9 T |

3T foreor ot et Fefafaa seAt @ I €T 4
(i)  oft =Ser g fohd qodl (FH-G-HA Q) I TG fRAT TR ?

(i) U faeneff & w9 4, 39 3= fovw § S8 IrTERar ey ?

(ii))  forT Sferex 1 TeTg Ud-STa@Tesh 18 1 Aad =T T81 hiAT ARy 2

(iv) M AgH TGl & 31 I T |

Seeing the growing cases of diabetes and depression among young
children, Mr. Chopra, the principal of one reputed school organized a
seminar in which he invited parents and principals. They all resolved
this issue by strictly banning junk food in schools and introducing
healthy snacks and drinks like soup, lassi, milk, ete. in school canteens.
They also decided to make compulsory half an hour of daily physical
activities for the students in the morning assembly. After six months,
Mr. Chopra conducted the health survey in most of the schools and

discovered a tremendous improvement in the health of the students.

After reading the above passage, answer the following questions :
) What are the values (at least two) displayed by Mr. Chopra ?
(i1)  As a student, how can you spread awareness about this issue ?

(iii) Why should antidepressant drugs not be taken without consulting
a doctor ?

(iv)  Give two examples of artificial sweeteners.
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Ni (s) | Ni2+ (0-01 M) || Ag* (0-001 M) | Ag (s)
&Zﬂ RID) % . EO(Ni2+/Ni) =-0-25 V, EO(Ag+ /Ag) =+080V
AYAT

(a) NaCl% 0-1 mol L1 faci@= <l =iretehdl 1:06 x 102 S em~1 8 | 38k
el ITeAshdl 3R foisa-amET (o) sl gienfad shifse | feanr = 2
AMONat) = 50-1 S em?2 mol1 3 A9(CIH) = 765 S ecm?2 mol 1.

(b) WAl 3R Tl et & st @1 AR a1 8 ? TS THR B
Th-Teh IETel I | 5

Calculate e.m.f. and AG for the following cell :
Ni (s) | Ni2* (0-01 M) || Ag* (0-001 M) | Ag(s)
Given : EO;2+ /ni) = — 0-25 V, E0pg+ /ag) = + 0-80 V
OR
(a) The conductivity of 0-1molL~! solution of NaCl is

1-06 x 1072 S ecm™1. Calculate its molar conductivity and degree
of dissociation (a). Given A%Nat)=50-1Scm2mol! and
A0(Cl") = 76-5 S cm?2 mol1.

(b)  What is the difference between primary battery and secondary
battery ? Give one example of each type.

25. (a) TI=IfIREd HI HR ¢d T TE HINT :
()  Ce*t ST focea & weh gad 3T 2 |
(i) ESRHYT GTG3Ti hl TLHTIUIRIUT hi TAeH! I Bl & |
(iii) 3d 2off § HES (Mn) Gaiferer I9=—- 3TeEATd el g |
(b) TfcTRed weiewTon i qui I
(i) 2MnO; +6H* + 5NO; —
(i) Cry02” +14 H* + 6 Fe2t 5
AuaT
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(i) syl GTge T Afes 97t 8 |
(i) Cr%* U Jad I 8 |
(iii) UfFeATaS A SeAdeieh fa=am| § AHIfdard g9nid 8 |

(b) IATIS e I IRUTG HITT | AATIST T AT IT= 3L
feflaw | 5

(a)  Account for the following :

(i)  Ce%**is a strong oxidizing agent in aqueous solution.
(i1)) Transition metals have high enthalpy of atomization.

(ii1) Mn shows maximum number of oxidation states in 3d series.

(b)  Complete the following equations :
(i) 2MnOj; +6H* + 5NO; —
(i) Cry02 +14 H* + 6 Fe2*

OR

(a)  Account for the following :
(i) Transition metals form coloured compounds.
(ii) Cr?*is a strong reducing agent.

(iii) Actinoids show irregularities in their electronic
configurations.

(b) Define lanthanoid contraction. Write the common oxidation state

of lanthanoids.

Bezaser Visit www ncer hel p. com ForiAl |l Vi deos Lectures of all Spbyects



Visit_www ncerthel p.com For Al NCERT Sol utions,
E Sanpl éﬂﬁi%ﬂﬁ@,ﬁ @u&t@éﬁ? Q%m@@ﬁq For Class 6 to 12

H,/Pd - BaSO, "z NaOH
C.H,COCl A B+C

CH;MgBr/H;0*

(b) TmfaRed & = 7@ iR .
(i) CgHs-COCH; 3R CgHy - CO CH,CH; H

(i) S=silgeh 3TFd 3T HHfA |

(¢) 2-TIsgiadiaiiceass sl aamT fflay | 5
HAYAT
(a) 9 WA (CHg — CHO) FfaiRaa s1firepment o @mer 1fHfshan s 2,
al ITed T IcuTe] hl et i fafen
(i) HCN

(i) H,N - NH,/H*
(i) LiAlH,
(b) RS Hehad SAMHIHAT o Jid 3Tl TGl g5 AHIHAMAA % HA
# frfafad i =afera Hi
CgH;COCH,, CH; - CHO, CH;- CO - CHj
(c) Tr=fafga difies I & o= 3@ 0 & T & g Tt §ire
Y
CH4CH,CHO 3R CHZ;CHO 5
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H,/Pd — BaSO, conc. NaOH
CgH;COCl A B+C

CH;MgBr/H;0*

D

(b)  Distinguish between the following :

(i1) Benzoic acid and Phenol

(c) Write the structure of 2-hydroxybenzaldehyde.

OR

(a) Write the structures of the main products when ethanal
(CHg - CHO) reacts with the following reagents :

(i) HCN
(i) H,N - NHy/H*
(i) LiAIH,

(b)  Arrange the following in the increasing order of their reactivity

towards nucleophilic addition reaction :

CgH5COCH;, CH; - CHO, CHy- CO — CHy

(c) Give a simple chemical test to distinguish between the following

pair of compounds :

CH3CH,CHO and CH3CHO
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